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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. O] GaugT 3 U9 U3 TR A 37 Aad: e |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. U U F BRI USH TURR H FHE THR H I / SR / SR
T T TSI AT % U9 i TE g |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

3. Tt W A 3TEH €|
All the questions are compulsory.

4. U YT 1 IR &l T8 SR-Yeashl § & e |

Write the answer to each question in the given answer-book only.
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5. Y EET 29 7 d% % TN YIS 20 TS 9, 3T T 8 9 11 dF &
ST Y 50 VT 9, YT & 12 9 21 % & I TdF 75 Vs q
TAT U9 G 22 9 24 TF o I TIh 200 IKT 9 3Tk 7 &l |

Answers of Question Nos. 2 to 7 should not exceed 20 words
each, Question Nos. 8 to 11 should not exceed 50 words each,
Question Nos. 12 to 21 should not exceed 75 words each and
Question Nos. 22 to 24 should not exceed 200 words each.

6. SO U % UF W T UFH GUM 37 a6t 9 €, 37 Tl AW FH FA TH
g qaq G |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.

7. WA HHE 1 % 9R 9 (i, i, iil 997 iv) €1 Tk 9T % W F R
geed (31, 9, W U T ) €1 W THoT H IWRR IW-YRAF H
AHTTHEN T efehl dTeh Ff@ :

There are four parts (i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

UYT HHIE Tl I HT HHTET

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

1. (iii)

1. (iv)

1. () ‘3MYTH URd H GHISH YIS J&Ih & oEgh i § ?

(31) THRYER TS (@) ot Ha
@ s EE (3) TH. . AT
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Who is the author of the book entitled ‘Social Change in Modern

India’ ?
(A) Narmadeshwar Prasad (B) Iravati Karve

. .. 1
(C)  Yogendra Singh (D) M. N. Srinivas. 2

(i) TATTH FHE T H  USS A I H YA HAT AT ?
(31) 1905-06 (& 1910-11

(® 1917-18 (®) 1922-23.

In which year was the word ‘Backward Class’ used for first

time ?

(A) 1905-06 (B) 1910-11

(C) 1917-18 (D) 1922-23. 3
(i) ‘YR H QHTTR qE T P oEh &

(31) arrs &% (¥ St g g

(W) FHITER T (3) =R

The author of the book entitled ‘Social Tensions in India’ is

(A)  Yogendra Singh (B) G. S. Ghurye

(C) Narmadeswar Prasad (D) Chanakya. %
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(iv) ‘&% 9% JAgTIH FHF T H UId gl ?
(31) 1955 (&) 1956

(@ 1957 (®) 1958.

In which year was ‘The Hindu Marriage Act’ passed ?

(A) 1955 (B) 1956

(C) 1957 (D) 1958.

2. WA ¥ Y T GHAS & ?

What do you understand by progress ?

3. 'TTEARSIYH 3% T39S UKAh b i@ HiF ¢ ?
Who is the author of the book ‘Modernization of Indian Tradition’ ?

4,  GETSH o i GHIE |

Explain Social Deviation.
5. a1 9H 9 S0 1 T AT § 2

What do you mean by Child Labour ?

6. <2 ol GHST |

Explain Dowry.
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10.

11.

12.

13.

TR RERR T & 2
What is Gargi Award ? 1

JHUSTAIRIOT 1 T IHT T h 517 |

Define Globalisation. 1%
3T Id A M 37 ATy |
Explain the meaning of Scheduled Caste. 1%

ST TehelT @ 37T T 37 90T & 7

. . 1
What do you mean by National Integration ? 15
TITEROT T 3T AT |

Mention the meaning of Environment. 1%

off T AT T Th TEp T H B dF 9% AT |

Write any three differences between Materialistic and Non-materialistic

cultures. 3
T STh T Qikh % U H g o iR Sdrgd |

Mention any three differences between social change and cultural

change. 3
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14.

15.

16.

17.

18.

19.

20.

21.

6

T ST TG0 & Qi aeh R W T U0 A & |

Write a note on cultural factor of social change.

TR § SRR & Hig oI ToTe Fdred |

Mention any three impacts of Industrialisation in India.

qRA § ITRISOT & GTHT STeh-3Mh TH1E hi GHeE |

Explain the socio-economic impacts of liberalisation in India.

A Te AT STk T o HeF hig i R A @ |

Write any three differences between individual and social problems.

3T T ST Al Sl el i THTST i e |

Mention any three problems of Scheduled Tribes.

A SH & THAE! i FHSY |

Explain the evil effects of Child Labour.

HOREEE LT Thdl § 6 YHR aHE & 2 T |

How is communalism a hindrance in National Integration ? Explain.

TITEROT TaH | S 91 T Th WU & & |

Write a note on Environment and Social Consciousness.
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22, ol T & MU TURUTETE S GHALY |

Explain the economic determinism of Karl Marx. S

23. 3T IR i TLTATS I THAT |
Explain the characteristics of modernization. S

24, UYTHHIOT § 3T 91 U & 7 URTHIERI0T o THTE] i qHEed |

What do you understand by Westernization ? Explain the impacts of

Westernization. 2+4=6
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